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THOUGHT OF THE DAY

If you can see the
positive sides of everything,
you’ll be able to live a much

richer life than others.




STUDENT’S CORNER

Shivani Jaiswal 5 hours ago
: ) . anu sharma 4 hours ago
Ans -c ..thank u soo much sir great session

e 5P REPLY Option ¢
Miharika Jha & hours ago I‘ g:l REPLY
Thank you sir g,

Homewaork answer PUNCTUAL

e SH REPLY

Surbhi Sinha 40 minutes ago

Option ccoce confirm punctual
il 1 &a REPLY

f"' 7 Twinklr Gupta 1 hour ago
9 Hw ans is.

Option c. Punctual
Wonderful session sir

e 1 5P REPLY

Zikra Yasmeen 5 hours ago
. Option C

e GF REPLY

abhay singh 2 hours ago
Option (c)




WORD OF THE DAY

Slugfest

(Noun) : 3T?.1T‘3I'I'3jr : A heated dispute.
Synonyms: Grapple , Brawl
Antonyms: Harmony , Peace

Example Sentence: The battle between the
two Democrats is turning into a nasty little

slugfest.




WORD OF THE DAY IMAGE




GRAMMAR TRICKS BASED ON
VERB




| GRAMMAR TRICKS BASED ON VERB

After many/a great many/a good many,
etc., the noun is always plural, which is
followed by a plural verb.

A great many girls are following fashion

trends these days.




TRICKS BASED ON VERB

After 'a number of/a large number’,
the noun and verb in the sentence
are always plural.

A number of soldiers have lost their

lives on the border.




After 'the number', the noun is

plural but the verb is singular.
The number of soldiers at the

border is large.



No sooner had, hardly had, scarcely had, etc. are
the adverbials that require a past perfect tense
and a past indefinite tense for the sentence.

No sooner had I reached home than she left.

Scarcely had the police reached when the man
died.



The clause ‘it is time’ or ‘it is high time’ requires
a verb in the simple past if there is a clause after
it.

It is high time you studied attentively.

It is time to study attentively. (You can replace

the clause by an infinitive removing the subject)
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'I GRAMMAR TRICKS BASED ON VERB

To is the only preposition that takes the base form of

the verb. However, there some phrases with to being
at the end of them, which require the gerund form of
the verbs.

With a view to, look forward to, being accustomed
to, being used to, admit to, confessed to

He went there with a view to confessing his crimes.

I am looking forward to meeting the princess.



I GRAMMAR TRICKS BASED ON VERB |

To be, being, having, getting, etc. are generally

followed by the past participle form of the verbs
and other adjectives.

Being tired, he took some time off from work.

He became astonished being robbed in the
daylight.

John went to bazar having eaten a burger.

He wanted to be educated.



| QUESTIONS BASED
ON VERB
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I' QUESTIONS BASED ON VERB

Q1. How will Willard’s resignation effect the

government’s plans?

1.

S iR

How will
Willard’s resignation

effect the

government’s plans

No Error Solution:

The Correct answer is option 3 i.e. effect
the The error is in the use of word

‘effect’ which must be replaced with
caffoet’®
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I' QUESTIONS BASED ON VERB

Q2. He sent me twenty invitations in the last six

months, until I agreed to come.

1.

SO s g

He sent me
twenty invitations in the
last six months,

until I agreed to come

No Error
Solution: option 1

He had sent me twenty invitations in the

last six months, until I agreed to come.
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I' QUESTIONS BASED ON VERB

Q3. The boss is impressed with her ability

to generate so good ideas.
1. The boss is impressed
with her ability

to generate

s0 good ideas

N S adid

No Error
Solution: option 4
The phrase ‘so good ideas’ must be

replaced with ‘such good ideas’




Q4. The police is investigating the murder

case which happened last month.

1.

St dem e

The police is
investigating the murder

case which

happened last month
No Error
Solution: option 1
The police are investigating the murder

case which happened last month.
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I' QUESTIONS BASED ON VERB

Q5.Pankaj regards handling the customer

honestly as his special expertise.

1.

St dem e

Pankaj regards
handling the customer

honestly as his

special expertise

No Error

Solution: option 4
usage of the word ‘special’ before

‘expertise’ is not correct and make it



QUESTIONS BASED ON VERB

Q6. The teacher has devoted one full hour to
explain the reasons behind the
transformation.

1. The teacher has devoted

one full hour to

2
3. explain the reasons

4. Dbehind the transformation
S. SHKHKSption 3

The teacher has devoted one full hour to

explaining the reasons behind the

Vs )



QUESTIONS BASED ON VERB

Q7. Each of these new students have been
assigned a roll number and a file by the
office.

1. Each of these new

2. students have been

3. assigned a roll number
4. and a file by the office
5. No Error

Solution: option 2

Each of these new students has been assigned




QUESTIONS BASED ON VERB

Q8. Instead of her extremely busy and hectic
schedule Neha still spends some time with her
family.

1. Instead of her extremely busy
and hectic schedule

Neha still spends some

time with her family

A DR g il

No Error

Solution: option 1

use ‘in spite of’ or ‘despite’, not ‘instead of’.



HOME WORK

Deepak didn’t dare go against the will of
his mother that why he is a successtul
businessman today.

1. heis a successtul businessman today
Deepak didn’t dare go

his mother that why

against the will of

ioh R & B9

No Error




HOME WORK ANSWER

Steven is always about

showing up for work because he feels
that tardiness is a sign of
irresponsibility.

a. Legible

b. tolerable

C. punctual

d. Literal

e. None of these







